1 FOO \s 3 -> restart, because it’s the first field -> value = 1

H1g outline level = 1
1 FOO \s 3 -> restart, because it’s the first field and restart outline level > outline level of previous heading -> value = 1

2 FOO \s 2 -> \s has no relevance, because not first field after heading -> current value + 1 = 2

3 FOO \s 4 -> \s has no relevance, because not first field after heading -> current value + 1 = 3

4 FOO \s 2 -> \s has no relevance, because not first field after heading -> current value + 1 = 2

